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Directions (1-5): 378 & 9cdeh 9T #H,al FHEOT (1) 3R (1) i&T arv &1 ar
AR &l gl L AR IR fFT-

(a) IS x>y

(b) TS x>y

(c) TS x<y

(d)IfEx <y

(e) TG x =y AT x 3Ry & ALT HIS TFaeT TAUT 8T [hAT ST FehaT .

QL. IL.5x+2y=4
IL-2x+y=11
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Q2.1.20x*+37x+15=0

I. 8y* + 26y + 15 =0
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Q3.1.3x*-7x+4=0
I.2y*-9y+10=0
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Q4.1.2x*+17x+36=0

1. 2y* +13y + 20 =0
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Q5.1.2x-4=5

Il 4y* - 24y + 27 =0
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Directions (6-10)): RF1ff@d 1% #F1 tamEs sreager ffaw 3k A=faf@a
geAl & I Ao

A fRT 31T IR WF H vH FFA F 6 FAANRAT A, B, C, D, E, F & #AIRAF a7 (T4
&) N gt =T

35000

30000

25000

20000

15000
10000 -
5000 A; I
0 - T T T T T
A B C D E F

A R 9T 9 T H AfFd D fT AMf@S 3T T dh-319 JiaArd Sl &2i=r Ir4m gl
Al AT = I + 99d. AAT &6 ATFT D HT S 3T TT 78T ¢l

10%

10%

Q6. I #HIsteT 3 A& 9 B &1 47 2:3 % 36Ul H § TUT il W B T 47,
e o D F TWT H66-% FA &, #iie 3R R | Framew B & =77 &7 der
fohdar 872



(a) 4000

(b) 4500

(c) 5000

(d) 3500

(e) 4200
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Q7.3f& C, E R D &l #islel WX <7 3:8:10 & 3Helurad # &, dl C IR E &7 A

HIST T <TG & HUs] W D& ¥ § fohefell U1 872
(a)11: 6

(b)12:7

(c)13:5

(d)9:4

(e)19:8
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Q8.7fg AR C &I gd 2:3% 3quid A & AR foer W AT 3, D& a7

a:r%%%,a’rmﬂ?c T FoT T A HfST

(a) 26200
(b) 23400
(c) 18200
(d) 27500

(€) 37 | IS gl
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Qo.afE B 3 F RN W 37elr AT 3T 7 20% 3R 335 % T T §, A FI

W D &r g9, fA&T 9 B 3R F &1 A eag & fohdar gfaerd g?
(a) 35%

(b) 42%

(c) 75%

(d) 82%

(e) 80%
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Q10. ¢ B3R C&r 3T &R § 3R CHr sud, B H a0 & 25% 378 &, df B

$r §d, D &1 g9d FT Tohder gfaerd &7
(@) 75%

(b) 82%

(c) 87%

(d) 93%

(e) 100%
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Direction (11-15): ATl d&ar sf@en d ge=Aars e (?) 1 AT Ald SIS

Q11.23,27,36,61,110,7

(a) 221

(b) 231

(c) 225

(d) 191

(e) 204
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Q12.4,2,3,7.5,7,118.125

(a) 26.5

(b) 24.25

(c) 26.25

(d) 18.25

(e) 18.625
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Q13.90,139,103,128,7,121
(a) 112

(b) 114

(c) 104

(d) 125

(e) 110
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Q14.81,87,107, 149, 7,331



(a) 222

(b) 220

(c) 138

(d) 221

(e) 119

L1Difficulty 3

QTags MISSING SERIES Quant
QCreator Deepak Rohilla

Q15. 26, 36,54, 80, 114,?

(a) 146

(b) 133

(c) 201

(d) 134

(e) 156
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Solutions

S1. Ans.(c)

Sol.

5x + 2y =4 ...(1)

-2x+y =11 ..(ii)

Multiply (i) by 2 and (ii) by 5; and on adding
y=7

And x=-2

Ly > x

S2. Ans.(e)

Sol.

.20x* +37x+15=0
= 20x% + 25x+12x+15=0
= 5x (4x+5) +3(4x+5) =0
= (5x+3) (4x+5)=0
X = ?or;—s

II. 8y + 26y + 15=0
= 8y?+ 20y +6y+15=0
=4y (2y +5) +3 (2y +5) =0
= (4y+3) (2y+5)=0

3 -5

y= :OI‘;
No relation

S3. Ans.(c)



Sol.

.3x2-7x+4=0
= 3x*-4x-3x+4=0
= (3x-4) (x-1)=0

x==orl

IL2y? -9y +10=0
= 2y’-4y-5y+10=0
= (2}’5' 5) (y-2) =0
=y=3 or 2
y>x

S4. Ans.(d)
Sol.
[.2x*+17x+36=0
2x% +9x + 8x + 36 =0
X(2x + 9)+ 4(2x+9) =0
= (x+4)(2x+9)=0
9
x=-4or -

I1. 2y2+13y+20:0

= 2y*+8y+5y+20=0
=>2y(y+4)+5(y+4) =0
:’y=—4or_2—5

S5. Ans.(b)
Sol.
[.2x=9

II. 4y* - 24y + 27 =0
= 4y*-18y -6y +27=0
=2y (2y-9)-3(2y-9)=0
3 9
=>y—50r5
xX=y

S6. Ans.(c)

Sol. Expenditure of D on Education = 30000

> x 15 = [ 6000

Expenditure of B on Food = 6000 x ; = [{ 2000
Required sum = 2000 + 3000 = [§§ 5000




S7. Ans.(a)
Sol. Expenditure of D on Food = X 25 = . 10000
Expenditure of C and E together on Food = 3000 + 8000 = . 11,000

30000

Expenditure of D on Clothing = 222 x 15 = [§ 6000
Required ratio=11:6

S8. Ans.(d)

Sol. Expenditure of Don Bill = 322 x 10 = . 4000

Income of A = 2 x 4000 = .13000
Savings of A = 13000 — 10000 = REI3000

~Savings of C = R§14500
Income of C = R§|14500
Total income of A and C = 13000 + 14500 = [R8I27500

S9. Ans.(e)
Sol. Expenditure of B on Education = % x 12500 = . 2500

Expenditure of F on Education = 1 X 15000 = Rs 5000
30000

Expenditure of D on Clothing = X 15 = Rs 6000
Required % = 222 x 100 = 80%
S10. Ans.(e)

Sol. Let saving of B = RElix
125

Then saving of C = .100
Income of B = Income of C

125
12500 + x = 10000 + —x

100
25 2500
— =
100"~
x = 10,000

Required % = g°°° x 100 = 100%

S11. Ans. (b)
Sol.
2§ 27 36 61 110 [231]
I o FE B R R
4 9 25 49 121

1 | N |



S12. Ans. (c)
Sol.

4 2 3 75 26.25| 118.125
A f N |
1 3 5 7 9
X — X — X — X — x
2 2 2 2 2
S13. Ans. (a)

Sol.
90 139 103 128 112 121

S S S f
+49 -36 +25 -16 +9

S14. Ans. (d)

Sol.

81 87 107 149 221 331

A S S o I

6 20 42 72 110

! 1T 1 1

2x3 4x5 6x7 8x9 10x11

S15. Ans. (e)
Sol.
26 36 54 80 114 156
| A Al Al Al
10 18 26 34 42

| AL Al A A
8 8 8 8




